
(1◦) Ha n páros szám, akkor

1 · 2− 2 · 3 + 3 · 4− 4 · 5 + . . .+ (n− 1)n− n(n+ 1) =

= 2 · (1− 3) + 4 · (3− 5) + . . .+ n · (n− 1− n− 1) =

= −2 · (2 + 4 + . . .+ n) = −2 ·
n

4
(2 + n) = −

n

2
(2 + n).

(2◦) Ha n páratlan szám, akkor sorunk így írható:

= 2 · (1− 3) + 4 · (3− 5) + . . .+ (n− 1(n− 2− n) + n(n+ 1) =

= −2 · (2 + 4 + . . .+ n− 1) + n(n+ 1) =

= −2 · (2 + n− 1) ·
n− 1

4
+ n(n+ 1) =

= −

(n+ 1)(n− 1)

2
+ n(n+ 1) =

(n+ 1)2

2
.

(Krampera Gyula, Debre
zen.)

Megoldások száma: 33.
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